[ normalized x? probability |

Entries

2577
1.149
0.8368

|”||\|I il "Ui""‘ "‘ HH H!"
g M!. i .“" i

": | \l' ..."'i. ”!{. ‘ |H |\|

“H H mhu LR '\ |\|h.||\|| 1

0 2 4 6 8 10 12 14 16 18 20
2

X Prob(xz)
= DQM_CKF_TTbase
e DQM_CKF_TT _retrainOldFiles113
wmmmm DQM_CKF_TT_retrainOldFiles125_v2
A 3 = 5F
s F S
< [ N seenie
T ..F o LF
3 25| e Rl ] B 1111151 R | EEEEEEE O
v r o E
[ g2 S | 1111 R | S SR B
o Voo
r oF H ﬁf*ﬁ# ‘E
151 -1E - ka4 FH-
[ -2F SRR AR
£ -3
[ E ;
r -4F
o 05 o =5f :
T 1.05 T
@ @ U= - 3
1 -
0.95F - 05F
0.9 0
=3 =3 -2 -

0 2 3
TP n (PCA to beamline)

< X2/ ndf >
N
00

i
T T[T [T [T T I [T TIT T

Ratio

107 1072

-1
AR(track, jeltS)

G
N4E-
S
- 3:_-
o F
o 2F-
\% E

-

oF-

Ratio




	Contents
	Page 1


